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What is the nume of the Line of Control betwesn India and Pakistan?

(A) Me Mohan Line (B) Radeliffe Line
(C) Palk Line {}) Siachin Line

Cite an example for cold desert in India
(A) Himachal Pradesh (B) Gujarat
(C) Haryana (D) Rajustan

What was the namne of the Ship used by Vasco da-Gama for his vovapge?
(A) HMS Beagla (B) Savo Gabrisl
() Vovager (D) Savo Plow

Who described the 'Directive Principles’ as the ‘Novel Features of the Indian Constitution™?
(A) Dr. Rajendra Prasad (B) Jawaharlal Nehru
(C) Sardar Vallubhai Patel (D) Dr.B.R. Ambedkar

What ie the nome of the Iudian River which carrios large volume of water?
(A) Sindu (B) Ganga 2005
(C) Brahmaputra (D) Yamuna

Who is cunsidered as the ‘Political Father' of the Ezhavas?
(A) Kumaran Asan (B) Dr Palpu
(C) '‘Sree Narayana Guru (D) 8. Shankar

The height of Mount Anamudi -
(A) 2695 metres (B) 2965 metres
(C) 2758 metres (D) 2654 metres

Who was the first President of Kerala Sahitya Acade my?
(A) BSardar K.B. Panicker (B) Sardar KN Panicker
(C) Sardar K. M.Panicker (D) Kumaranasan

Which day is celebrated as ‘Coconut Day'?
(A) November 01 (B) Aupust 02
(€) January 28 (D) Beptember 02
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10. Inwhich year Vakkom Abdul Khader Moulavi starte 4 his Newspaper Sw
(A) 1904 (By 190
() 1906 (I 1905

11. What wab the name 01 the New gpaper _-'.:_||"I-.'i'1 L1y :'.'||I|!-J|Il yran Avyappat ¢4

Ay Velakkaran By PBh

nam

() H:J...t,_:-.l'ﬂll---.l-.a!n () Yachana

12. Who was the author :|§"1’.:-;1'I:L.-'.h'.‘-.1-1.-.111;‘\11:1r:| ?

(AYy Sree Narayana Guru )y  Ayyankali

() Kunchan Nambyar (o Ezhuthachan

13. Who wente the work Jathilkummi?
(Ay Kumaranuasan (By Chavara Achan

() Poikeyil Yohannan (Dy Pandit Karuppan

14. Who was the brst Malayalam novehst who won the Jnanpith?
Ay G Sankarakkuruppu B SK Pottakkad

q

(Cy MV asudevan Nair (D)  Valsala

15. . Who au hored the pamphlet Thiruvithamkoor for T L'n'1l_h:u.r.1:-:'nn';:m".’
Ay TR Madhavan ®y G.r Pillax

() P.Ranga Rao M N.Raman Pillal

16. Who led the ‘Pattini Jatha' from Kannur to Madras in 19 16"
A EMSE }C:nl_'ulzr--':T1]11'|§J_|l.'--l @ K. Eelappan

iy AR 1":--j'u‘ll'.:'.': (m C Kesavan

17. In which country in the world Grean Revolution started for the hOrst time’?

(Ay Mexico (B India

() Pakistan (D) Chana

18. Who was known as the ‘Thanst Rani ul Pravancors !

(X)) Anna Chandi (B} Arya Pallam

() AV. Kuttimalu Amms (D) Akkamma Cheriyan

19, Whn 18 CEAQ «

NITI AYOUT

{A) Aravind Panagariya (By Rajiv Kumar

() Amitab Kant (o) M Ahaluwaliya
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24.

26

the name of the miggion which aims to achiove full immunization coverage for all
onn 11 the eountry by 20207
{A) Mission Indradhanush (B) Make India

(C) Bal Swachata Mission (I AYUSH Mission

Which of the following is not a scalar quantitv?
(A) Knerpy {B) Kinematic \1«."-_‘--‘!I}.-

(CY Power (D) MNone of the above

Ratio of dynamic friction to static

{A) Always greater than 1 (By Always less than 1

() Alwaves congtant (11  Nome of the above

It the moment of mertia of a rectangular section 18 o be douhled for the same width, 1ts
height h has to be increased to

(A 2h (By 0.5k

(L) .26 A (1) 1.414h

If it

5 m, the acceleration and

A particle storte from rest and moves along a straight line with e

acquires a velocity of 3 m/e after having travelled a distance of 7

the time taken to travel g distance are :
(A) 0.6m/s? 58 (B) 5 mis?, 0.6 s

() 6mis* 0.5s (DY O0.5miss 68

If the speed of a particle along a curved path is constant. which of the following is true?
(A) Tangential acceleration is zero, normal aceeleration is non zero

(B) Naormal acceleration is zero, tangenti: weeleration is non-zero

(C) Both tange 5 Are Zero

(1M Nonme of

- above

Starting from rest a parbele moving along a cireunlar path of radius r =0 that the distance

h':i\-l-||:-({ 18 orven by the --.\.pr»_\.—mil.—ﬂ B = et where ¢ 18 4 constant, ']'l'u_l |::|:1L:+-111i:1l .-_1nd uuftputl

acecalerations of the particle are
y 3 - - i
(A 2e.4det°r (B) - o BTl

(C) e. 0.5ct" )3 (D) 0.6c., 27 /r
If the linear momentum of a particle is increased by 50%; ite Kinetic enorgy will inerease by :

(A) H0% {B)

2.25% (48}
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28. In mothod of sections for analysis of plane truss the maximum number of unknown forces

that can be found with a given scction 18

(A 1 By 2Z
(Cy 3 Dy 4

929. The depth of centre of pressure in a rectangular lamina of height fi with une side in the hiquid
surface is at:

(A) 2Zh/3 By h
() hf3 5] .l'llr'-'.:I

an elongation of 23 mm in a given spring, find the frequency of
fram the end of the spring :
(3) 0.99H=z

(D) 91.09 Hz

g0, If 44.56 N tension produces
vibration af a 4.456 N weight suspended
(A) 99H=z
Q) 19,9 1=z
31. The alloy in duralumin with largest content 1s :

(A) Magnesium (B) Mangancse

() Copper (D) None of the above

g32. The crystal structure of all the following material is FCU except ©
(A) Aluminium

(C) Nickel

(3) Magpesium
(D) Copper

33. Which of the following {s a mechanical property?

(A) Modulus of elasticity (B) Thermal conductivity

({7 Cohesive [orce (D) Sitiffnces

34. Hardnessis the resistance to
By Deformation

(A) Bending
(D Slhiding

(C) Scratching
{ fixed praportions mix to yield a gacond

q5. The reaction that causes 8 liguid and suvlid phase 0

golid phase 18 :
(A) Euteclic
(C) Peritectic

() Eutectoid
(D) Peritectoid

368. The most desirahle method of increasing the yield strength of mild ateel 18 ¢
(A) DPrecipitation hardening (B) Caold working
iy  Solute addition (D Grain refinement
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37. “m ry stallisation rate ine reases wilh
(A) Increasing amount of cold work (B} Higher annealing temperature

(1) Decreasing initial grain size (DY Al the abowve

38. Bainite has:
(A) Same morphology as austenite

(B) A non-lamellar morpho

gy of ferrite and vemenlite
(C) The coarsest morphology among all the products from austenite
() MNone of the ahove

39. Free energy decrease during recrystallization comes mainly from ;
(A) Lower energy of the new crvstal structure
(B) Excess point defecta
(C) Grain boundaries

(D) Excess dislocations

40. The maximum hardenability of any steel depends on
(A) Presence of alloying elements (B) Grain size
(C) Carbon content (D) All the above

41. When a circular vod of diameter d welded to rigid plate by a circular fillet weld of size { is
subjected to a twisting moment T, the shear stress indueed in the weld is given by

(A) 2.83 T/md’ (B) 4.24 T/xtd"
(C) 5.66 T/atd" (M L414 T/md*

42. Parallel fillet welded joints are designed tor
(A) Tensile strength (B) (.1l'}[|‘IEl_"('I1.-|‘-'l "“""“-‘_-U-h

(C) Bending strength (D) Shear strength

43. A bolt is specified by its :
(&) Nominal diameter and pitch (B) Major diameter and pitch
(C) Minor diameter and pitch (D)) None of the ahave

44. In a knuckle joint, the pin is subjected to

(A) Double shear (B) Double gshear and bending
(C) Crushing and doubls shear (D) Nonc of the above
45. A beam 18 said fo be of uniform strengthif — ja same throughout the beam.
{A) Bending moment (B) Shear stress
(C) Deflection (D) Bending strosa
A 7 139/2017
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| rompression s pring are deoubled,

46.
il
reduced to one fmirth
47. The tensile (hoop) s in a flywheel rim due o the centrifugal force acting on the rim will
. linear velocity is increased by 10%.

(BY Increased by 121%

(Ay Inureassd by 21%
oy Ink reased by 100%: (D) Increass d by 108

n
three equal springs, the stiffness will be

18, If a spring is cut Inio
(A) reduced to approximately onc third (i) same
azed to approximately 3 times (D) unpredictable

_ pearisused

E ..]}.____,.i reduetion —
Worm (B) Spur

(C) Bevel (DY Herringbone

50. [f the thickness of a thin eylinder subjected to internal pressure 18 douhled and diameter 138
| reduced to half, the stress w ill be
1 - \ 1
(A) Redu ed to one fourt h (B Redueced to one halt
r z
(y Remains constant (I Reduced to onc eighth

following is true?

51. Which of the
(Ay Bulk modulus is the rat

io of apherieal stress to volumelric strain

(B Bulk modulus is imnfinity for u material of 0.5 Poisson ralio
(Cy (A)and (B)

My None of the above

a depth of 10 m in oil of relative density 0.75
(BYy 0.075

(D) 93575

52. Pressure in bar al

(AYy 73D,

i}

53. In a ateady flow of fluid the seceleration of any fluid particle is:
(A) Constant (B) Varahle

(C) Zero (D) Zoro under hmiting condition
orizontal jat through an prifice p cr
{ m/s. What will be the jet velow
(D) 2 m/s

(M 4 mfs

54, The velocity of a h rovided at the hattom of a tank with wat
atalevel of 1 m1s ity when the level drops to 1 m?
(A) 1r

0y  Ldld mis
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he tancontial comyg

nent of the water |;.||.'|_1" le 18 proportional to

» centre (K) .

4] R

(m IR?

5h. h of the following statements is ?
A} Pitting due to cavitation nccurs at high pressure
ecific speed of a turbine with higher héad is lower
| |l|'_[',['| 15 'hl:t!!L|: '\\]L;H l]l'![\i_'_"n' '\.il]\l' i.lill_'— |'|' ."".‘lI _1"-“5 aXxlia E."_'II\‘— Puinp
with dehvery valve fully open

(D) ne of the above

57. The hmiting ssure head ab starting and end of the suction and delivery strokes of a
reqiprocating pump of wats
(A) Zi6m

(B) 10m
(M 1.6m (M 16m

58. Air vessels i

a reciprocating pump

(A) Maintain uniform flow rate (1) teduce friction head
(C) Both (A)and (B) (D)y MNone of the above

59. For a completely subme

»d rectone Ve

| plate in a liquid, the ratio of distance of

centre of pressure from the higquid surface to the centre of gravity is

(A) Alwaya greater than 1 (B) Lesathanl

{C) Greater than orequal o 1 (D) Lesst

1an or

.'-'|I|~':1 to 1
friction [actor is

A CO ant
|E1.'\ Mot o enne

1mT

(C) Sometimes known as Blasiue friction factor

1y (BYyand ()
61. With mcre

(A)

(B) Dex

enthalpy of dry saturated gas

VL) Remains constant

3] [ncy

2 up to the critical point

63.

vapour mixture

with increase in pressure.

s not change ()

decreases
() ncreases

(D) incree

3 till ¢ritical point is reached

1392017
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63. The tvpe of compression that would be consume logs work 182
(A) Adwobatic (B) Polytropic
(C) lenthalpic (D) Isothermal

g4. For anineompressible Muid which of the following is true .
(A) Specific heats at constanl pressure and constant volume are same
(B)  Specific heat at constant pressure is greater than that at constant volume
() Specific heat at constant volume 1= greater than that at constant pressure

(M MNone of the sbove

65. dJoule's law states that the specific internal energy of a gas :

{A) Depends on temperature of the gas (By Depends on pr

sure of the gas
(Cy Independent of prosasure of the gas (M (A) and (C)

&6. Inanideal gas the partial pressure of a component 18 :
(A} Inversely proporfional to square of mole fraction
(B) Directly proportional to mole fraction
{({y Directly pruportional to square of mnle fraction
(D) Equal tn mole fracton

67. Inversion curves are the curves of
(A) Constant entropy
(B) (lnnatantinternal energy
() Constent enthalpy

(DY Constant derivative at pressure with respect to enthalpy
68. Throttling calorimeter 18 used for measuring
(A) Very low dryness [1 action (B} Very hieh deyuess fraction

() Calorific values of ligquids (Dy Calorific values of gases
q X

§9. A perfeci gas at 27 s iz heated at constanl pressure till ite volume 1= doubled. The final

temperature 15 -
(A 54°C (B) 327°C
(C) 108°C () 654°C

=20. If a certnin amount of dry ice is mixed with same amount of water at 80°C, the final
temperature of the mixture w il be A

(A) 80°C (B) 40°C
€y 20°0 D) 0°C

139/2017 10 A
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A

A casting witha ———

violume to surface ratio will cool and sahidity ——
(&Y Thigher, fast (B} higher, slowly

(Y lower, slowly (I lower, fust

Which ir an expendable mould casling process?
(AY Shell moulding (B)

Investment casting
(C) Vacuum moulding (I All the above

Impression die forging 18 algo known as :

(A) Open die forging (B) Flashless die forging
() Indirect forging (D)) WNane of the above

The extrusion pressure in direct extrusion n comparison lo indirect extrusion 18 !
(A) Higher at beginning but almost the same at the end
(B) Lower at beginning but almost the same at the end
(1) Same at beginning butl increases at the end

(D) Same at beginning but decreases at the end

provides a clearance betwecn the trailing edge of the tool and the newly
generated wurk surface

{A) Side rake angle (BY End cutting edge angle
(Y Back rake angle (D) All the above

In water jet cutting stund-off distance is the scparation between
Yy  Waork surfs

e and the operator (BYy MNozzle and the operator

(C) Mozzle and work surface (D} None of the above

Llltrasonic machining is used to machine :
{A) Non-metallic materials (B) Hard and brittle materials
(C) Tough and malleable materials (D) Soft and ductile materiala

— machining process{es) require(s) a vacuum chamber.

(A) Laser Beam Machining (B) Electron Beam Machining
(0) Ultrasonic Machining (D) Both (A) and (B)

Tungsten 15 usually used as an electrude in -
(A Gs

& tungsten arc welding (B) Submerged arc welding

() Plasma are welding (1)) Baoth (A) and (C)

11 ; 139/2017
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51.

Ad.

86.

I'he coda G339 18 yased for
(A) Abesolute
(8] itl-' 121T P

{are) the

following 1

(A) Der 1 may
Ry 1t ASsuIe
(L) Prices ot mate

Dy All the

abpve

Work study examines

(A) Methed
0y Feasibility of

In process charts the
g-..-..gn--|".‘.w1--lw.'
(A)

Sguare

(C)

Which charts are

Ay P chart, (-ch

|_‘II

1f there are
(A) Alternative

("7 Unbounded

Which method s an iter
A)

(¢) Duplex meth

139/2017
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=5 that storage space

and T

Circle and Triangle

used for keeping @ contr |

Y.chart, R-charl

mare than vne optimum

Slack variable

ad

31 Thread cutting

JETAMMINE (1 ool le neth compensation
limitations of Eeonomic & yrder Quantity agaumption(s)
vary throughout year

is unlimited

spials

ehange throughout yeor

MRy Work duration

:t]l[“hhll t (1) (A)

and (B)

svmbuls used for storage and inspection are ——
riangle (1) ‘Imangl B

(D) Square and Circle

on the eentral tendency and dispersion?

art (B) P-chart R chart

(D) 'C-chart and X-chart

solution for the decision variable, the solution

(3 Infoasible

(D) None of the above

ative procedure for solving LPP in & fimte number of atepa?

By M.method

M) Simplex method

183



nish time

o0
=1
-

tavity W. If the es

e
e

nediale predecessors

1), then the earliest start time for W is

88, layout 15 pre srred for low volume production of non-standard products
(A} Fixed position layout (B) Praduct layout
(C) Process layout (D) Combination lavout

829, e building o s are related to ——— t structure.
A) Competition (By Oligopoly

(C) Muonope (D) Monapsany

90. Which of the following is (are) the limitations of bresk-even analysis

(A) Statie conc (B) Non-linear behaviour of costs

(7) Fresenee of perfect competition Dy  All the above

91. When a bar of cross-sectional area A is subjected to axial lvading P, which of the following is
true?

(A} Stressis given by P/ A atevery sections excepl al ends

(B] Bending will vceur if £ is not acting through the centroid of the cross-section

(C) Both (A) and (B)

(DY None of the above
02, The value of Poigson's ratio for cork and concrete are :
(A O.land D (M) 0 and 0.6

(Y 0and0.] (I 0.5and0

93. A statically indeterminate structure 1s onc which has

(A} more constraints that are necessary

(B) less ennsatraints that are necessary

(C) exactl

the same constraints that are neccasary

(D) infinite conatraints

A 13 139/2017
[P.T.O.]




94, [f theory
non-
(A)
(B)
(C)
(1

95. In case

8l pure
uniform bending of beams,

used for calculating the

the values will be

bending is

normal

stresses in the case of

Almuost correct
Incorrect
Correct or incorrect depending on the magnitude of bending moment
MNone of T.hr_- above

bending of benms of rectangular eross-section, the maximum shear

— larger than the average shear stress.

gtross 18

(A) HO% (B) 150%
(C) 2bH0% {D) 350%
86. A sudden jump on the bending moment diagram is caused by !
{(A) A concentrated load at that point (B) A uniformly varyving load
(C) A support at that point (D) A couple acting at that point

97, In a cantilever beam carrving uniformly varying lond starting from zero at the free end, the

bending moment diagram is a
(A) Hormzontal line

(B)
(D)

Inchned line

(C) Parabola Cubie

98. If a bar 1s loaded in simple tension, the failure of material may be due to :
(A) ()
(8] ()

Normal siresses Shear stresses

(A) or (B) None of the above

99. The bending moment at mid-span of a uniform beam of height A subjected to a point load P

is ——— compared to a beam of same length, width but of height 2k carrying the
aame load.

(A) same (B) twice

(C)} half (D} none of the above

100. A simply supported beam subjceted to a couple at mid-span has :
{A) Sume bending moment and zero shear stresa throughout the length
(B) Same shear stress and zero bending moment throughout the length
() Zero bending moment at ends and masximum at the cantre
(D) Mone of the above
139/2017 14 A




